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Some people believe that the range of technology
available to individuals is increasing the gap between
rich people and poor people. Others say that it is
having the opposite effect. Discuss both views and give
your opinion.



Some people’s opinion - various technology
available today widens the gap between rich and
poor.

It is commonly seen that products with the latest
technology is very expensive. The cost of advanced
technology is unaffordable for the poor, and this

phenomenon increases the gap between rich and poor.
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Some people’s opinion - various technology
available today widens the gap between rich and
poor.

While rich people can pursue convenient lifestyle by
using a variety of technology which is normally
expensive such as medical services and equipment, the

poor cannot ensure their quality of living.

ed:

OlO|EZ



Others’ opinion - opposite effects can be
shown.

Some technological advancement like the Internet
enable people to receive education conveniently. There
are a huge amount information which are available
online, and people can access it regardless of their

financial status.
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Others’ opinion - opposite effects can be
shown.

* Development in aviation has allowed all people to

travel overseas frequently

These days, there are many airlines which sell cheap
flight tickets, and this factor made people to travel

abroad whenever they are available.
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1. Introduction (General + Thesis statement)
2. Main body 1 (Some people’s view)
3. Main body 2 (Others’ view)

4. Conclusion
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Introduction

While some people think that the gap between rich and poor
can be widened due to a variety of technology today, others
believe that opposite effects can be shown due to this
phenomenon. Both views will be discussed and | opine that

the latter view is more persuasive. (48 words)
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Main body 1

On the one hand, various technology available today

increases the gap between rich and poor people. First of all,
only rich people can pursue luxury lifestyle. It is commonly
seen that products with the latest technology is very
expensive. The cost of advanced technology is unaffordable
for the poor, and this phenomenon increases the gap

between rich and poor.
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Main body 1
Moreover, only rich people become wealthier with

technology advancement. While rich people can pursue

convenient lifestyle by using a variety of technology which is

normally expensive such as medical services and equipment,

the poor cannot ensure their quality of living. (99 words)
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Main body 2

On the other hand, | believe that various technology makes

all people to pursue better lifestyles. Firstly, people in
whatever financial status can be educated equally. Some
technological advancement like the Internet enable people
to receive education conveniently. There are a huge amount
information which are available online, and people can

access it regardless of their financial status.
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Main body 2

In addition, travelling to foreign countries has become more

common nowadays. There are many airlines which sell
cheap flight tickets, and this factor made people to travel
abroad whenever they are available. (91 words)
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Conclusion

In conclusion, although technological advancement makes
the gap between rich and poor wider, | believe that every
individual can be benefitted due to this development. Thus,
using advanced technology should be guaranteed

regardless of people’s financial circumstances. (37 words)

Total; 274 words
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